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AE G PR HRET2Z LR
#= 8P ¢ Hp & 2y
n=15 n=15 n=15 P-Value
el E R AR
T 39k i 41 46 50 -
¥z mL 0.41 0.34 0.43 NS
kR, 108/mL 6.99 6.42 0.31 NS
B3 E4 % 31.03P 33.932b 45,732 *
&+ Fa5% 0p 13.03° 19.292b 30.072 *
Al RAEE R B
T 353 # 42 A7 50 -
wiRE, ML 0.32 0.28 0.31 NS
FiRER, 108/mL 3.93 3.10 4,52 NS
3+ B4, % 23.36 26.27 33.92 NS
H3 a5 0 11.56° 21 .542b 24 462 *

abWithin a row, means with no common superscript differed significantly (P < 0.05).

“P<0.05; NS, P>0.05.
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A ilw ﬁg%;ﬁﬁ\%ﬁ, A il ARAgE vi“‘_a

(n=15) (n=15)
T 357 dl 46 46
¥izE, mL 0.40 0.30
kA, 108/mL 7.572 3.85P
HIFE4 % 36.272 26.76P
3w a5 % % 21.52 17.84

ab\Within a row, means with no common superscript differed significantly (P < 0.05).

“P<0.01: "P<0.05: NS, P> 0.05.
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